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2— R 5 | dim goukeil as inteter, goukei2 as integer,
183 3TH dim goukeil as integer, goukei2 as integer,
x(0,0) = 40: x(0,1) = 30: x(0,2) = 70
28| x(1,0) = 50: x(1,1) = 60: x(1,2) = 55
T~9TH, x(2,0) = 30: x(2,1) = 65: x(2,2) = 90
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?‘TH x(0,0) = 40: x(1,0) = 50: x(2,0) = 30
1IE| x(0,1) = 30: x(1,1) = 60: x(2,1) = 65
x(0,2) = 70: x(1,2) = 55: x(2,2) = 90
#5 | dim x(2,2) as integer, goukei (3)_
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1F | dim x(2,2) as integer, goukei (2)
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]| x(1,0) = 50: x(1,1) = 60: x(1,2) = 55
ST x(2,0) = 30: x(2,1) = 65: x(2,2) = 90
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%(0,2) = 70: x(1,2) = 55: x(2,2) = 90
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